what conditions would you recommend

scheduling by PERT ? .

/\u\. Discuss the role of material handling system in
improving the productivity of a company.

6. Explain the principles of Motion Economy.

7. The following information relating to a type of raw
material is available :

© 2,400 units
Rs.2.40

Ordering cost per order Rs. 4

Annual demand
Unit price

Stroage Cost 2% per annum
Interest Rate 10% per annuim
Lead time Half month

Calculate Economic Order Quantity and total
inventory cost of the particular raw material.

8. Wirite the dual to the following LP problem :
Maximize Z = x4 —Xo *+ X3
Subject to the constraints
Xq+ Xy +x3<10
2Xq —Xg ~ X3S 2
2X4 —2X9 —3X3 <6
and X4, X9, X320

® QA\
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Time : 3 hours

Full Marks : 80
Candidates are required to give their answers in
their own words as far as practicable.
The questions are of equal value.

Answer any four questions in which
Q. No. 1 is compulsory.

1.  Write the correct answer of the following :
(@) Operations research approach is :
(i) Multi-disciplinary \g\ Scientific
(iii) Intuitive - (iv) Allofthe above
(b) Linear Programmingis a:
(i) Constrained optimization technique

(i) Technique for economic allocation of
limited resources

(iii) Mathematical technique
\AZV All of the above

BM - 2/3 (Turnover)
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